Writing-Project-2-spring-24-solns.notebook February 27, 2024

Graph the function g(x) by transforming the graph of a basic function, f° (r) . Start with a basic function graph, with at

least 2 — and preferably 3 — points labeled. Then track where each of those points is moved to at each step. Using the
same points I always use is usually the easiest, because THEY are the easiest ones to obtain in your basic function graph
that 1s always the first graph in these sequences.

L. (Spts) g(x)= o0 +8 (Use (1,1), and (71 —1) as the 3 (x, y)'s in the 1* graph.). 1hope and expect to
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3. (Spts) g(x)=-53x-18+7
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4. (5pts) g(x)=6+2x+14+11
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5. (5pts) g(x)=5(6x—42) 18 = 5 (cx-3V 48
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We treat lines and parabolas a little differently. They come up so often - plus the completing-the-square trick — we
sidestep the whole f(bx) issue and just work with g(x)=alx—h)’ +k and g(x)=mlx—h)+k=m(x—x)+ .

6. (5pts) g(x)=7(x-2)+6
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8. (5 pts) g(x): X —6x—27 = x = Cx + 2t g -2F = (x-3) -3¢

(© Sy= () -9 = fx-3)
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9. g(x) =2x" —4x+20
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